
Pressure and temperature 

O
rd

er
in

g 
ex

am
pl

e:
2 

pc
s 

br
as

s 
pr

ot
ec

tiv
e 

w
el

ls
 M

27
x2

 O
rd

er
 N

o.
 4

05
 9

61
 0

14
 1

16
*)

 C
ha

ng
e 

of
 in

di
ca

te
d 

di
m

en
si

on
s 

re
se

rv
ed



Accessories

Due to continual technical development the manufacturer reserves the right to change parameters without prior notification.

1ZPA EKOREG, Děčínská 55, 400 03 Ústí nad Labem, tel.: 475,246,335.336, fax: 475,531,073, e-mail: prodej@zpaul.cz, http://www.zpaul.cz

D
es

ig
n

–
br

as
s,

ex
t.

ov
er

pr
es

su
re

up
 to

1M
Pa

1
M

Pa
=

10
ba

r
D

es
ig

n
–

st
ai

nl
es

s,
ex

t.
ov

er
pr

es
su

re
up

to
3

M
Pa

1
M

Pa
=

10
ba

r
Fo

r
ty

pe
R

an
ge

[°C
]

Fi
g.

O
rd

er
. N

o.
Th

re
ad

„Z
“

Le
ng

th
D

ia
m

et
er

*)
W

ei
gh

t
O

rd
er

 N
o.

Th
re

ad
„Z

“
Le

ng
th

D
ia

m
et

er
*)

W
ei

gh
t

O
K *)

O
rd

er
 N

o.
w

el
de

d-
on

pi
ec

e

O
rd

er
 N

o.
 R

ub
be

r
bu

sh
in

g
(m

ax
.1

80
 °C

) 

40
59

61
01

41
16

M
27

x2
40

59
61

01
42

16
M

27
x2

-4
0…

0
-2

5…
15

30
…

90
70

…
14

0
11

0…
18

0
14

0…
21

0
40

59
61

01
47

16
G
¾

13
5

12
0,

17

40
59

61
01

48
16

G
¾

13
5

12
0,

16

40
59

61
01

54
16

M
27

x2
40

59
61

01
55

16
M

27
x2

61
21

6
61

12
7

0…
40

A

40
59

61
01

56
16

G
¾

17
5

16
0,

2
40

59
61

01
57

16
G
¾

17
5

14
0,

17

405061014516

40
59

61
01

72
16

M
27

x2
40

59
61

01
73

16
M

27
x2

-4
0…

0
-2

5…
15

30
…

90
70

…
14

0
11

0…
18

0
14

0…
21

0
40

59
61

01
74

16
G
¾

13
5

12
0,

18

40
59

61
01

75
16

G
¾

13
5

12
0,

17

40
59

61
01

81
16

M
27

x2
40

59
61

01
82

16
M

27
x2

61
13

4
61

13
5

0…
40

B

40
59

61
01

83
16

G
¾

16
0

16
0,

21
40

59
61

01
84

16
G
¾

16
0

14
0,

18

32

M27x2
405061221316

G¾
405061221216

Pr
ot

ec
tiv

e 
w

el
ls

 fi
g.

 B
 fo

r d
ev

ic
es

 ty
pe

 6
11

34
 a

nd
 6

11
35

 s
up

pl
ie

d 
w

ith
 d

ev
ic

es
.

Pr
ot

ec
tiv

e 
w

el
ls

 fi
g.

 A
, r

ub
be

r b
us

hi
ng

 fo
r d

ev
ic

es
 ty

pe
 6

11
26

, 6
11

27
 a

nd
 w

el
de

d-
on

 p
ie

ce
s 

fo
r w

el
ls

ar
e 

su
pp

lie
d 

on
 s

pe
ci

al
 o

rd
er

.
 



Catalogue sheet  KLA 14/33/09-11

Pressure and temperature 













 



     

     




 

      

      




 

  















































  





     

     




 

      

      




 

  



















  



















Ordering example: 
1 pc accessories M12 x 1,5 Order No. 405 961 177 916

Reducing nipple M12 x 1,5/M20x1,5
Order No. 405 961 189 216

Throttling screw for regulators type 61214 and 61216
(for ranges 4-63 kPa, 10-100 kPa, 16-160 kPa, -80-250 kPa)
Order No. 405 061 050 116

Throttling screw for regulators type 61214 and 61216
(for ranges 25-250 kPa, 40-400 kPa, 63-630 kPa, 0,1-1 MPa, 0,16-1,6 MPa)
Order No. 405 061 167 116

Regulator accessories in design Ex supplied with devices!
Accessories in design T is supplied on special order.

Due to continual technical development the manufacturer reserves the right to change parameters without prior notification.

2                ZPA EKOREG, Děčínská 55, 400 03 Ústí nad Labem, tel.: 475,246,335.336, fax: 475,531,073, e-mail: prodej@zpaul.cz, http://www.zpaul.cz

Accessories

For
type

Order
No.

Weight
[kg] Accessories consists of the: Material

Nut D = M 12x1,5 [mm]

d d1 l l1 l2 h11
6,5 12,5 21 17 3 17

Structural
steel

Nipple [mm]

d d1 d2 d3 l l1 l2
9,5 5,5 6 3 25 6 4

Structural
steel

Washer [mm]

d d1 b

61214
61216
61215
61219
61220

40
5

96
1

17
7

91
6

40
5

96
1

17
7

92
6

(n
ip

pl
e-

st
ai

nl
es

s)

0,03

9,5 5,5 2

Al

Nut D = M 20x1,5 [mm]

d d1 l l1 l2 h11
12,5 20,5 30 24 5 27

Structural
steel

Nipple [mm]

d d1 d2 d3 l l1 l2
17,5 7 12 7 30 5 -

Stainless
steel

Washer [mm]

d d1 b

61218
61242

40
5

96
1

17
8

11
6

0,1

17 6,5 2

Al


